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1. Reason for Change
1. non existent section is referenced
2. unnecessary empty line in table
2. Proposal

It is proposed to agree the following changes to 3GPP TS 24.322 v1.0.0.
****************** change 1 ******************

6.3.1
UE procedures

If the UE has a network interface with a universally administered MAC address, the UE shall use a universally administered MAC address of a network interface of the UE as the UE FTT-IMS MAC address. If the UE does not have a network interface with a universally administered MAC address, the UE shall use a locally administered MAC address where the least significant bit of the last octet is set to zero as the UE FTT-IMS MAC address.
If IPv4 is supported, the UE shall support acting as DHCPv4 client according to IETF RFC 2131 [6].

If IPv6 is supported, the UE shall support acting as host supporting the IPv6 stateless address autoconfiguration according to IETF RFC 4862 [11].

Once the FTT-IMS is established, the UE shall:

1)
if the UE needs IPv4 connectivity, request IPv4 address using DHCPv4 according to IETF RFC 2131 [6]. The UE shall use the htype, hlen, chaddr according to the UE FTT-IMS MAC address; and

2)
if the UE needs IPv6 connectivity, generate IPv6 address using IPv6 stateless address autoconfiguration according to IETF RFC 4862 [11]. The UE shall create a link-local address according to IETF RFC 4291 [10] using the UE FTT-IMS MAC address.

NOTE 1:
Further IPv6 configuration can be done using stateless DHCPv6 according to IETF RFC 3736 [9].

NOTE 2:
DHCPv4 uses IPv4 as transport; IPv6 stateless address autoconfiguration uses IPv6 as transport and DHCPv6 uses IPv6 as transport. Thus, the DHCPv4 messages, IPv6 stateless address autoconfiguration messages and DHCPv6 messages are transported via the FTT-IMS using the IP packet transport FTT-IMS procedure according to subclause 5.3.

****************** change 2 ******************

7.1.1
General

The least significant bit of a field is represented by the lowest numbered bit of the highest numbered octet of the field. When the field extends over more than one octet, the order of bit values progressively decreases as the octet number increases. 
Figure 7.1.1-1 shows an example of a field where the most significant bit of the field is marked MSB and the least significant bit of the field is marked LSB.
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Figure 7.1.1-1: Example of bit ordering of a field
